C0010 =AR¥ (B-LED

[
n

2EE
1. 8 cosl3’=a, HI cot2263°=
@aly1—a ®—y1-d"/a Q—aly/1—a"
Oy 1—d/a Eb) LI
2. % m/4< 0 <=/2, a=log%sin0, b:log%cosﬁ,
¢ zlog%tanﬁ, d‘—"log%secﬁ, M oa,b,c,d ZH,



96 JREREE (BB

=~

Na>b>c>d ®b>a>c>d

Qb>a>d>¢ mec>d>a>b
Bd>c>a>b

tand=1/2H. k =(2cos*d—3sin” 20)/(1+43sinfcost)

-

Wk=1/2 ®k>1 Qk=5/11 O k=11/5
B L H3E

g 0 <z <r/2 B sin2z=1/4, fl sin3z—cos3z
2 fER

W3/4 B2 C/F/4 O—/5/4

B LEIE

& g =sinz+cosz, b =cos2z 0 a+b*la* 2165
@1 @2 2 O3/2 E2/3
tan20°tand0°tand0°’ ZfEF

&y/3 B3 O3 O3 (B IR

2 g a=R H /6 (cosf— sind)-+/ 2 (cosd+sind)
=asin(0+a) JIFH (6,a)=

A)(4,57/12) (B)(4, —57/12) ©)(—4,57/12)

O)(—4 —52/12) B)(—4,, —7/12)

=y ‘ |

SEH | [ g0 \ 40°10° | 40°20° | 40°30
cost \ 0.7660 ‘ 0.7642 | 0.7623 | 0.7604

- | sind ‘ 0.6428 l 0. 6450 \ 0. 6472 0. 6494

75 180°< 9 <270° H sind=—0.6458, UL
[ REEEEs, WTFFIRER 0 R
(8)220°14'38" (R)220°13'30" (©)220°13/38"
(D)221°13"38" (E)210°13'38"

#w AABC cosa/a+cosp/b+cosy/c=

7 Wa+b+c @®1/abe C(atbte)/abe

10,

II.
11.

D)@+ b+ ¢*)/abe E)(a?+b*+ c*) [2abe
zl2< < H 6sin’z+sinzcosz—2cos’z=0
il sin2z+cos2z 2 {H5 (Hint: 43R tanz)
w713 ®7/5 ©-1/5 O1R/13 E7/13

BEE
AT LR 1003 A2 A B B T — e
C, HBMT: .
N AREREEREI 2 k2, 1 0 ==/6,
RBEERBERERS 2 %, 0f ¢ =n/3,
D& P70

sl MR 0, R B CD=

12,

13.

14.

15,

16.

17,

18.

A30/104R  ®100/ 3AR  CELEHER. 8TAR
OELMESL73.21A R B EEIE

2 gsecd—dtand=c, bsecf+ctand=d (a,b,c,
dER), WTFFIMERE?

Bat—b=c*—d* @a+b*=c*+d?

O+ c'=a+d* Db —c’=ad*—d*
Bb:— c*=d*—a*
20 e SR sindcosd=—3/8 M sind

- cosf+tand+secd+cotf+-cscd ZfEF]HE
@7/2 @L/6 ©-7/2 O—6/11 E)—11/6

B @ =c08132°c0s108°+-cos132°cos12°
+cos12°cos108°
b =sin80°c0s20°+sin45°cos145°
+sin55°cos245°
T 536 E 7
Wa=3/4 ®b=0 ©Qa=-3/4Da+b=-3/4

Ela+b=3/4

=y =Sin-' (13/14), p=Sin"*(11/14), H
Wsin(a+f)=y"3 /2 Bcos(a+p)=1 /2
Qa+p=r/3 Datp=r/6 Ea+p=22/3
2 tand, tany B x*+prt+q=0 21, h,qER,
H g=1, MTFITEER?
@tan(0+¢9)=p/(¢—1) Btan(0+e)=p/(1—¢)
(Ocos*(0+0)=¢*/(p*+(g—1)")
Dcos*(0+¢)=(q—1)*/p*+(g—=1)*)

B IR

Fa+p+r=rlITHERE?
@sin(B+7)=cosa  @)sin(r+a)/2=cosp/2
(Qsec(at-p)=—secr Dsin(a/2+p)=cos(B—y)/2
B)cos(B/2+7)=sin(y—a)/2

THI 2 B /22

(A)sin2z (@B)secdz (Osinz+|cosz| -



19.

20.

21.

22,

O/ 1—cos2z+/ 1+cos2z  (B)] sinz|+|cosz]
20 <0<z H 2c08’f+3sind=3 [ 0 2T
@r/3 @r/4 O=/2 D5z/6 E)r/6

BO0<r<n H doos’x=3 Wz 2@l
Wo<z<n/3 @m6<z<z 0<z=7/6
Dr/6<z<r/2 E)r/6<z<5/6

#0<z<r, AFIA t=sinztcosz (FEIEZE
#, F flx)=(+sinz)(1+cosz) ZR{E; RT3
ERE?

Wf(=/H=B+2/72)/2 BEKX
®)f(r/4)=0C+2)/2 BEX

Ofm=08BfkA Of(m)=07RH]
®f(x/4)=03+2/2)/2 Bl

W AABC i, # acosa=bcosp, L=ALHER
@EM[A BFEA OF4N OFBEMAA

23,

24.

29,

CO010— =&t 97

D) Iet: 2ie

AT, M E R
(A)Tan~‘a=Tan ‘bé&=a=b

(B)a = b &=Cos~'a=Cos ™'

(Qsinz= k&> z =Sin"'k

D)z % 0 K, Tan"'z= Cot*(1/z)

E)z < 0k, Cot~'z=r+Tan™*(1/x)
Sin-1(—3/5)-+Cos™(—4/5) FLTFIAHIA%?
)7 —Tan"'(3/4) ®)7 —Tan™*(24/7)
(@Cos~(—17/25) O= +Tan"1(24/7)
(E)—2Tan"*(3/4)

% f(r)=cos2z—sinz ZHKAER ¢ f/MERS b
AT E?

Wa=2 " Ba=9/8 Ob=-2 mb=-9/8
Ba+b=-1/8

(FLded  IRERLFRLD)





